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#1: 3 F&(125.23) #2: 6 B78(124.75) #3 5 BkinpElRE(117.24)

1 NS: Pdst $8{-88(GH0) 0 NS: BEsr Hig=(FC) 26 2.31 17.69 | Total VP: 91.64 Rank:
EW: BRI FiksfE(RAC) -26 EW: B 2IZEBIo) 0 IMP:| 3 29 7
I e
aT72 2SS5 200 4885 450 3.0 1 |[#2 » K82 4SXS-2 -500 Mean: 4HE4 420 1.0 1
v Q842 4SN5 450 4SN5 450 3.0 1 v 95 4HWS5 -450 -450  5HW5 450 0.0 1
+ AKQ6 Dif: -250 4SS4 420 20 5 ¢ QJ54 Dif: -50 NS:-2 4HW5 450 0.0 6
» 74 IMP: -6 4SN4 420 20 1 » J542 IMP: -2 EW:0 4SXS-2 500 2.0 2
» 854 » J9 2885 200 -40 1 ||a JT74 6
v A63 v T97 3NN-2 -100 -10.0 1 v KJT873 I AQ2
¢ J94 ¢ T82 *A KT9
+ QT83 & AKJ95 » Q3 KT9876
% ¢V OSN 4 AKQE3 % ¢ VAN 4 AQ953
~4441 KI5 N ~2~1~ v64
~4441 4753 S ~2~1~ ¢ 87632
~~~~~ & 62 E 4~4~3 &A
~~~~~ W 4~4~3
#3 » 862 3SW4 -170 4HS4 420 120 1 ||#4 s AJ5 1NW-1 100 Mean: 2HW-3 300 4.0 1
v T85 4HS4 420 5HS-1 50 6.0 1 v JT9 2HW-2 200 160  2HW-2 200 1.0 4
¢ 32 Dif: -590 5HXS-1 100 50 2 o+ AJ96 Dif: -100 NS:-2 2HW-1 100 2.0 4
& KT542 IMP: -11 3SwW4 470 3.0 1 & JT3 IMP: -3 EW:-1 1NW-1 100 20 1
KJ97543 & QT 5HXS-3 500 -50 1 » KQ4 » 863
Q9 v 43 4SW4 620 -80 4 ||w K8 + v 75432
985 ¢ AKT764 ¢ 43
J » A86 & A96
o 4¢VAN L,A a T972
4 ~ 2 ~ ~ 9 AKJ762 v AQ6
4~2~~ 4QJ o T7
~4~4~ &Q973 & Q874
~4 ~4 ~
#5 4 QT3 3NN5 660 3NN5 660 80 2 ||#6 s Q3 3NE3 -600 Mean: 3NE-1 100 120 1
v KT2 3NN5 660 4SN5 650 7.0 1 v AJ3 3NW6 -690 -550 3NW4 630 20 2
¢ J3 Dif: 0 4SN4 620 7.0 1 ¢ 9754 Dif: 90 NS:-2 3NE4 630 -20 3
» KQ732 IMP: 0 3NN4 630 7.0 2 & Q432 IMP: 3 EW:4 3NE3 600 -20 3
# 9542 s A8 6CN-1 <100 -10.0 1 | |& K987 & Ad42 3NW6 690 40 1
v Q9643 v AJ87 3NN-1 -100 -10.0 3 ||v KQ6 — v 952
¢ Q8 ¢ T9754 * KT8 * AJ2
& 98 & T5 & K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 ¢5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
~~~~~ * AJ64 E 4~~44 T8
~~~~~ W 4~~44
#7 » Q9865 3SN-1-100 3883 140 7.0 1 |[|#8 aT9 2HN3 140 Mean: 4HN5 450 6.0 1
v AT3 3SN-1 -100 3SN-1 4100 10 7 v AKJT97 4HN4 420 210 3NS4 430 6.0 1
+ AQ6 Dif: 0 NS:1 4SN-2 200 -20 1 + AQ Dif: -280 NS:-2 4HN4 420 50 1
& 92 IMP: 0 EW:-1 4HW4 620 -10.0 1 & T73 IMP: -7 EW:-5 3HN3 140 20 1
& A3 a 42 » A853 » K764 2HN3 140 20 3
v QJ852 + v K97 v Q62 v 83 2HN2 110 30 2
¢ 742 ¢ KJ985 ¢ T5 ¢ J832 2SW-1 50 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢VABN o QJ2
2~~2~ 964 N ~33~3 54
2~~2~ 4T3 S ~33~3 ¢ K764
~33~1 &QJ843 E ~~~~~ & K54
~33~1 W ~ ~~~~
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#1: 3 F&(125.23) #2: 6 B78(124.75) #3 5 BkinpElRE(117.24)

2 NS: BEESE FREEFEAC) 26 1 NS: &R B{Z#(FF0) 0 17.69 : 2.31 Total VP: 83.63 Rank:
EW: #e3 ZIfRZEBEIO) 0 EW: BREIE 3 iA(BAC) -2 IMP:} 29 : 3 8
I e
#1 aT72 2SS5 -200 Mean: 4SS5 450 3.0 1 #2 » K82 4SXS-2 500 Mean: 4HE4 420 1.0 1
v Q842 4SN5 -450 350  4SN5 450 3.0 1 v 95 4HW5 450 -450  5HW5 450 0.0 1
+ AKQ6 Dif: 250 NS:3 4ss4 420 20 5 ¢ QJ54 Dif: 50 NS:0 4HW5 450 0.0 6
» 74 IMP: 6 EW:4 4SN4 420 20 1 » J542 IMP: 2 EW:2 4SXS-2 500 2.0 2
s 854 » J9 2885 200 -40 1 ||a JT74 a6
v A63 v T97 3NN-2 -100 -10.0 1 v KJT873 I v AQ2
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
% ¢V OSN 4 AKQE3 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ & 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 3SW4 170 Mean: 4HS4 420 120 1 ||#4 s AJ5 1NW-1 -100 Mean: 2HW-3 300 4.0 1
v T85 4HS4 -420 -290  5HS-1 50 6.0 1 v JT9 2HW-2 -200 160  2HW-2 200 1.0 4
¢ 32 Dif: 590 NS:12 5HXS-1 100 50 2 o+ AJ96 Dif: 100 NS:1  2HW-1 100 2.0 4
& KT542 IMP: 11 EW:-3 3SW4 470 3.0 1 & JT3 IMP: 3 EW:2 1NW-1 100 20 1
» KJ97543 & QT 5HXS-3 500 -50 1 » KQ4 » 863
v Q9 v 43 4SW4 620 -80 4 ||w K8 + v 75432
¢ 985 ¢ AKT764 + KQ852 ¢ 43
aJ » A86 K52 & A96
o 4¢VAN L,A a T972
N 4~2~~ 'AKJ762 v AQ6
S 4~2~~ +QJ ¢ T7
E ~4~4~ Q973 & Q874
W ~4~4-~
#5 4 QT3 3NN5 -660 Mean: 3NN5 660 80 2 ||#6 s Q3 3NE3 600 Mean: 3NE-1 100 120 1
v KT2 3NN5-660 340 4SN5 650 7.0 1 v AJ3 3NW6 690 -550 3NW4 630 20 2
¢ J3 Dif: 0 NS:8 4SN4 620 7.0 1 ¢ 9754 Dif: -90 NS:-4 3NE4 630 -20 3
» KQ732 IMP: 0 EW:-8 3NN4 630 7.0 2 & Q432 IMP: -3 EW:2 3NE3 600 -20 3
# 9542 s A8 6CN-1 <100 -10.0 1 | |& K987 & Ad42 3NW6 690 40 1
v Q9643 v AJ87 3NN-1 -100 -10.0 3 ||v KQ6 — v 952
¢ Q8 ¢ T9754 ¢ KT8 * AJ2
& 98 & T5 & K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 ¢5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ * AJ64 E 4~~44 T8
W ~~~~~ W 4~~44
#7 » Q9865 3SN-1100 Mean: 3SS3 140 7.0 1 |[|#8 aT9 2HN3 -140 Mean: 4HN5 450 6.0 1
v AT3 3SN-1100 -130  3SN-1 4100 10 7 v AKJT97 4HN4 -420 210  3NS4 430 6.0 1
+ AQ6 Dif: 0 NS:1 4SN-2 200 -20 1 + AQ Dif: 280 NS:5 4HN4 420 50 1
& 92 IMP: 0 EW:-1 4HW4 620 -10.0 1 & T73 IMP: 7 EW:2 3HN3 140 20 1
& A3 a 42 » A853 » K764 2HN3 140 20 3
v QJ852 + v K97 v Q62 v 83 2HN2 110 30 2
¢ 742 ¢ KJ985 ¢ T5 ¢ J832 2SW-1 50 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢VABN o QJ2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~
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#1: 3 F&(125.23) #2: 6 B78(124.75) #3 5 BkinpElRE(117.24)

3 NS: FENER 2 ERZ(GHO) 12 4 NS: PRIERZ FE1ESR(BAC) -5 14.68 : 5.32 Total VP: 125.23 Rank:
EW: & & BESFR(EAC) 5 EW: iti#E%4 HinsE(FR0) -1 IMP:| 15 2 1
I e -
#1 aT72 4SS5 450 Mean: 4SS5 450 3.0 1 #2 » K82 4HWS5 -450 Mean: 4HE4 420 1.0 1
v Q842 4S5S4 420 350 4SN5 450 3.0 1 v 95 5HWS5 -450 -450 5HWS5 450 0.0 1
+ AKQ6 Dif: 30 NS:3 4ss4 420 20 5 ¢ QJ54 Dif: 0 NS:0 4HWS5 450 0.0 6
& 74 IMP: 1 EW:-2 4SN4 420 20 1 » J542 IMP: 0 EW:0 4SXS-2 500 2.0 2
s 854 » J9 2885 200 -40 1 ||a JT74 a6
v A63 v T97 3NN-2 -100 -10.0 1 v KJT873 I v AQ2
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
% ¢V OSN 4 AKQE3 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ & 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 5HS-1-50 Mean: 4HS4 420 120 1 ||#4 s AJ5 2HW-2 200 Mean: 2HW-3 300 4.0 1
v T85 4SW4 -620 -290  5HS-1 50 6.0 1 v JT9 2HW-1100 160  2HW-2 200 1.0 4
¢ 32 Dif: 570 NS:6 5HXS-1 100 50 2 o+ AJ96 Dif: 100 NS:1  2HW-1 100 2.0 4
& KT542 IMP: 11 EW:8 3SW4 470 3.0 1 & JT3 IMP: 3 EW:2 1NW-1 100 20 1
» KJ97543 & QT 5HXS-3 500 -50 1 » KQ4 » 863
v Q9 v 43 4SW4 620 -80 4 ||w K8 + v 75432
¢ 985 ¢ AKT764 + KQ852 ¢ 43
aJ » A86 K52 & A96
o 4¢VAN L,A a T972
N 4~2~~ 'AKJ762 v AQ6
S 4~2~~ +QJ ¢ T7
E ~4~4~ Q973 & Q874
W ~4~4-~
#5 4 QT3 3NN4 630 Mean: 3NN5 660 80 2 ||#6 s Q3 3NE4 -630 Mean: 3NE-1 100 120 1
v KT2 3NN4 630 340  4SN5 650 7.0 1 v AJ3 3NE4 -630 -550 3NW4 630 20 2
¢ J3 Dif: 0 NS:7 4SN4 620 7.0 1 ¢ 9754 Dif: 0 NS:-2 3NE4 630 20 3
» KQ732 IMP: 0 EW:-7 3NN4 630 7.0 2 & Q432 IMP: 0 EW:2 3NE3 600 -20 3
# 9542 s A8 6CN-1 <100 -10.0 1 | |& K987 & Ad42 3NW6 690 40 1
v Q9643 v AJ87 3NN-1 -100 -10.0 3 ||v KQ6 — v 952
¢ Q8 ¢ T9754 ¢ KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 ¢5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ * AJ64 E 4~~44 T8
W ~~~~~ W 4~~44
#7 » Q9865 3SN-1-100 Mean: 3SS3 140 7.0 1 |[|#8 aT9 2SW-1 50 Mean: 4HN5 450 6.0 1
v AT3 3SN-1-100 -130  3SN-1 4100 10 7 v AKJT97 2HN2 110 210  3NS4 430 6.0 1
+ AQ6 Dif: 0 NS:1 4SN-2 200 -20 1 + AQ Dif: -60 NS:-4 4HN4 420 50 1
& 92 IMP: 0 EW:-1 4HW4 620 -10.0 1 & T73 IMP: -2 EW:3 3HN3 140 20 1
& A3 a 42 » A853 » K764 2HN3 140 20 3
v QJ852 + v K97 v Q62 v 83 2HN2 110 30 2
¢ 742 ¢ KJ985 ¢ T5 ¢ J832 2SW-1 50 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢VABN o QJ2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 £ F > A EREHL 2RR2 =

=> Rl

#1: 3 F&(125.23) #2: 6 B78(124.75) #3 5 BkinpElRE(117.24)

4 NS: BRAERE #EsREIC) -5 3 NS: #lEF 52/~ (F0) 12 5.32 14.68 | Total VP: 71.72 Rank:
EW: 8% BiFESEEH0) -12 EW: :F{_E BRFR(BAC) 5 IMP:| 2 15 10
I e -
#1 aT72 4SS5 -450 Mean: 4SS5 450 3.0 1 #2 » K82 4HW5 450 Mean: 4HE4 420 1.0 1
v Q842 4SS4 -420 350  4SN5 450 3.0 1 v 95 5HWS5 450 -450  5HW5 450 0.0 1
+ AKQ6 Dif: -30 NS:2 4ss4 420 20 5 ¢ QJ54 Dif: 0 NS:0 4HWS5 450 0.0 6
& 74 IMP: -1 EW:-3 4SN4 420 20 1 » J542 IMP: 0 EW:0 4SXS-2 500 2.0 2
s 854 » J9 2885 200 -40 1 ||a JT74 a6
v A63 v T97 3NN-2 -100 -10.0 1 v KJT873 I v AQ2
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
% ¢V OSN 4 AKQE3 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ & 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 5HS-1 50 Mean: 4HS4 420 120 1 ||#4 s AJ5 2HW-2 -200 Mean: 2HW-3 300 4.0 1
v T85 4SW4 620 -290  5HS-1 50 6.0 1 v JT9 2HW-1-100 160  2HW-2 200 1.0 4
¢ 32 Dif: -570 NS:-8 5HXS-1 100 50 2 o+ AJ96 Dif: -100 NS:-2 2HW-1 100 2.0 4
& KT542 IMP: -11 EW:-6 3SW4 470 3.0 1 & JT3 IMP: -3 EW:-1 1NW-1 100 20 1
» KJ97543 & QT 5HXS-3 500 -50 1 » KQ4 » 863
v Q9 v 43 4SW4 620 -80 4 ||w K8 + v 75432
¢ 985 ¢ AKT764 ¢ 43
aJ » A86 » A96
o 4¢VAN L,A a T972
N 4~2~~ 'AKJ762 v AQ6
S 4~2~~ +QJ ¢ T7
E ~4~4~ Q973 & Q874
W ~4~4-~
#5 4 QT3 3NN4 -630 Mean: 3NN5 660 80 2 ||#6 s Q3 3NE4 630 Mean: 3NE-1 100 120 1
v KT2 3NN4 -630 340  4SN5 650 7.0 1 v AJ3 3NE4 630 -550 3NW4 630 20 2
¢ J3 Dif: 0 NS:7 4SN4 620 7.0 1 ¢ 9754 Dif: 0 NS:-2 3NE4 630 20 3
» KQ732 IMP: 0 EW:-7 3NN4 630 7.0 2 & Q432 IMP: 0 EW:2 3NE3 600 -20 3
# 9542 s A8 6CN-1 <100 -10.0 1 | |& K987 & Ad42 3NW6 690 40 1
v Q9643 v AJ87 3NN-1 -100 -10.0 3 ||v KQ6 — v 952
¢ Q8 ¢ T9754 ¢ KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 ¢5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ * AJ64 E 4~~44 T8
W ~~~~~ W 4~~44
#7 » Q9865 3SN-1100 Mean: 3SS3 140 7.0 1 |[|#8 aT9 2SW-1-50 Mean: 4HN5 450 6.0 1
v AT3 3SN-1100 -130  3SN-1 4100 10 7 v AKJT97 2HN2 -110 210  3NS4 430 6.0 1
+ AQ6 Dif: 0 NS:1 4SN-2 200 -20 1 + AQ Dif: 60 NS:-3 4HN4 420 50 1
& 92 IMP: 0 EW:-1 4HW4 620 -10.0 1 & T73 IMP: 2 EW:4 3HN3 140 20 1
& A3 a 42 » A853 » K764 2HN3 140 20 3
v QJ852 + v K97 v Q62 v 83 2HN2 110 30 2
¢ 742 ¢ KJ985 ¢ T5 ¢ J832 2SW-1 50 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢VABN o QJ2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 £ F > A EREHL 2RR2 =

=> Rl

#1: 3 F&(125.23) #2: 6 B78(124.75) #3 5 BkinpElRE(117.24)

5 NS: BRZEER) BRREEGHO) -1 6 NS: &5 FF=1E(BAC) 0 9.56 10.44| Total VP: 117.24 Rank:
EW: SR #E&ZEEAC) 0 EW: Z=551F 2BiE8(BAO) 1 IMP:| 17 18 3
I e -
#1 aT72 4SN4 420 Mean: 4SS5 450 3.0 1 #2 » K82 4HWS5 -450 Mean: 4HE4 420 1.0 1
v Q842 4S5S4 420 350 4SN5 450 3.0 1 v 95 4HWS5 -450 -450  5HWS5 450 0.0 1
+ AKQ6 Dif: 0 NS:2 4ss4 420 20 5 ¢ QJ54 Dif: 0 NS:0 4HWS5 450 0.0 6
& 74 IMP: 0 EW:-2 4SN4 420 20 1 » J542 IMP: 0 EW:0 4SXS-2 500 2.0 2
s 854 » J9 2885 200 -40 1 ||a JT74 a6
v A63 v T97 3NN-2 -100 -10.0 1 v KJT873 I v AQ2
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
% ¢V OSN 4 AKQE3 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ & 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 4SW4 -620 Mean: 4HS4 420 120 1 ||#4 s AJ5 2HW-2 200 Mean: 2HW-3 300 4.0 1
v T85 5HXS-1-100 -290  5HS-1 50 6.0 1 v JT9 2HW-1100 160  2HW-2 200 1.0 4
¢ 32 Dif: -520 NS:-8 5HXS-1 100 50 2 o+ AJ96 Dif: 100 NS:1  2HW-1 100 2.0 4
& KT542 IMP: -11 EW:-5 3SwW4 470 3.0 1 & JT3 IMP: 3 EW:2 1NW-1 100 20 1
» KJ97543 & QT 5HXS-3 500 -50 1 » KQ4 » 863
v Q9 v 43 4SW4 620 -80 4 ||w K8 + v 75432
¢ 985 ¢ AKT764 + KQ852 ¢ 43
aJ » A86 K52 & A96
o 4¢VAN L,A a T972
N 4~2~~ 'AKJ762 v AQ6
S 4~2~~ +QJ ¢ T7
E ~4~4~ Q973 & Q874
W ~4~4-~
#5 4 QT3 4SN5 650 Mean: 3NN5 660 80 2 ||#6 s Q3 3NE3 -600 Mean: 3NE-1 100 120 1
v KT2 3NN-1-100 340 4SN5 650 7.0 1 v AJ3 3NW4 -630 -550 3NW4 630 20 2
¢ J3 Dif: 750 NS:7 4SN4 620 7.0 1 ¢ 9754 Dif: 30 NS:-2 3NE4 630 20 3
» KQ732 IMP: 13 EW:10 3NN4 630 7.0 2 & Q432 IMP: 1 EW:2 3NE3 600 -20 3
# 9542 s A8 6CN-1 <100 -10.0 1 | |& K987 & Ad42 3NW6 690 40 1
v Q9643 v AJ87 3NN-1 -100 -10.0 3 ||v KQ6 — v 952
¢ Q8 ¢ T9754 ¢ KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 ¢5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ * AJ64 E 4~~44 T8
W ~~~~~ W 4~~44
#7 » Q9865 3SN-1-100 Mean: 3SS3 140 7.0 1 |[|#8 aT9 3HN3 140 Mean: 4HN5 450 6.0 1
v AT3 3SN-1-100 -130  3SN-1 4100 10 7 v AKJT97 3NS4430 210 3NS4 430 6.0 1
+ AQ6 Dif: 0 NS:1 4SN-2 200 -20 1 + AQ Dif: -290 NS:-2 4HN4 420 50 1
& 92 IMP: 0 EW:-1 4HW4 620 -10.0 1 & T73 IMP: -7 EW:-6 3HN3 140 20 1
& A3 a 42 » A853 » K764 2HN3 140 20 3
v QJ852 + v K97 v Q62 v 83 2HN2 110 30 2
¢ 742 ¢ KJ985 ¢ T5 ¢ J832 2SW-1 50 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢VABN o QJ2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 £ F > A EREHL 2RR2 =

=> Rl

#1: 3 F&(125.23) #2: 6 B78(124.75) #3 5 BkinpElRE(117.24)

6 NS: #:iH:E FEEHEIC) 0 5 NS: BRES) 5 REE(BO) -1 10.44 : 9.56 Total VP: 124.75 Rank:
EW: 25518 SREEFH0) 1 EW: #FIE #EE(FIC) 0 IMP:| 18 17 2
I e -
#1 aT72 4SN4 -420 Mean: 4SS5 450 3.0 1 |[#2 » K82 4HWS5 450 Mean: 4HE4 420 1.0 1
v Q842 4SS4 -420 350  4SN5 450 3.0 1 v 95 4HW5 450 -450  5HW5 450 0.0 1
+ AKQ6 Dif: 0 NS:2 4ss4 420 20 5 ¢ QJ54 Dif: 0 NS:0 4HWS5 450 0.0 6
& 74 IMP: 0 EW:-2 4SN4 420 20 1 » J542 IMP: 0 EW:0 4SXS-2 500 2.0 2
s 854 » J9 2885 200 -40 1 ||aJT74 a6
v A63 v T97 3NN-2 -100 -10.0 1 v KJT873 I v AQ2
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
% ¢V OSN 4 AKQE3 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ & 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 4SW4 620 Mean: 4HS4 420 120 1 ||#4 s AJ5 2HW-2 -200 Mean: 2HW-3 300 4.0 1
v T85 5HXS-1100 -290 5HS-1 50 6.0 1 v JT9 2HW-1-100 160  2HW-2 200 1.0 4
¢ 32 Dif: 520 NS:5 5HXS-1 100 50 2 ¢ AJ96 Dif: -100 NS:-2 2HW-1 100 2.0 4
& KT542 IMP: 11 EW:8 3SW4 470 3.0 1 & JT3 IMP: -3 EW:-1 1NW-1 100 20 1
» KJ97543 & QT 5HXS-3 500 -50 1 » KQ4 » 863
v Q9 v 43 4SW4 620 -80 4 ||w K8 + v 75432
¢ 985 ¢ AKT764 + KQ852 ¢ 43
aJ » A86 K52 & A96
o 4¢VAN L,A a T972
N 4~2~~ 'AKJ762 v AQ6
S 4~2~~ +QJ ¢ T7
E ~4~4~ Q973 & Q874
W ~4~4~
#5 4 QT3 4SN5 -650 Mean: 3NN5 660 80 2 ||#6 s Q3 3NE3 600 Mean: 3NE-1 100 120 1
v KT2 3NN-1100 340 4SN5 650 7.0 1 v AJ3 3NW4 630 -550 3NW4 630 20 2
¢ J3 Dif: -750 NS:-10 4SN4 620 7.0 1 ¢ 9754 Dif: -30 NS:-2 3NE4 630 20 3
» KQ732 IMP: -13 EW:-7 3NN4 630 7.0 2 & Q432 IMP: -1 EW:2 3NE3 600 -20 3
# 9542 s A8 6CN-1 <100 -10.0 1 | |& K987 & Ad42 3NW6 690 40 1
v Q9643 v AJ87 3NN-1 -100 -10.0 3 ||v KQ6 — v 952
¢ Q8 ¢ T9754 ¢ KT8 * AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 ¢5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ * AJ64 E 4~~44 T8
W ~~~~~ W 4~~44
#7 » Q9865 3SN-1100 Mean: 3SS3 140 7.0 1 |[|#8 aT9 3HN3 -140 Mean: 4HN5 450 6.0 1
v AT3 3SN-1100 -130  3SN-1 4100 10 7 v AKJT97 3NS4 -430 210  3NS4 430 6.0 1
+ AQ6 Dif: 0 NS:1 4SN-2 200 -20 1 + AQ Dif: 290 NS:6 4HN4 420 50 1
92 IMP: 0 EW:-1 4HW4 620 -10.0 1 & T73 IMP: 7 EW:2 3HN3 140 20 1
& A3 a 42 » A853 » K764 2HN3 140 20 3
v QJ852 + v K97 v Q62 v 83 2HN2 110 30 2
¢ 742 + KJ985 ¢ T5 ¢ J832 2SW-1 50 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢V AN 4, Q2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 £ F > A EREHL 2RR2 =

=> Rl

#1: 3 F&(125.23) #2: 6 B78(124.75) #3 5 BkinpElRE(117.24)

7 NS: BREgT BREIR(BH0) -17 8 NS: SE# 4 s (EC) -7 7.58 : 12.42| Total VP: 99.71 Rank:
EW: 27 FEEEI0) 7 EW: &igT RERI(BAO) 17 IMP:| 9 : 15 5
I e -
#1 aT72 4SS4 420 Mean: 4SS5 450 3.0 1 #2 » K82 4HE4 -420 Mean: 4HE4 420 1.0 1
v Q842 4S5S4 420 350 4SN5 450 3.0 1 v 95 4SXS-2 -500 -450 5HWS5 450 0.0 1
+ AKQ6 Dif: 0 NS:2 4ss4 420 20 5 ¢ QJ54 Dif: 80 NS:1 4HW5 450 0.0 6
& 74 IMP: 0 EW:-2 4SN4 420 20 1 » J542 IMP: 2 EW:2 4SXS-2 500 2.0 2
s 854 » J9 2885 200 -40 1 ||a JT74 a6
v A63 v T97 3NN-2 -100 -10.0 1 v KJT873 I v AQ2
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
% ¢V OSN 4 AKQE3 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ & 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 4SW4 -620 Mean: 4HS4 420 120 1 ||#4 s AJ5 2HW-2 200 Mean: 2HW-3 300 4.0 1
v T85 5HXS-3 -500 -290  5HS-1 50 6.0 1 v JT9 2HW-1100 160  2HW-2 200 1.0 4
¢ 32 Dif: -120 NS:-8 5HXS-1 100 50 2 ¢ AJ96 Dif: 100 NS:1  2HW-1 100 2.0 4
& KT542 IMP: -3 EW:5 3SW4 470 3.0 1 & JT3 IMP: 3 EW:2 1NW-1 100 20 1
» KJ97543 & QT 5HXS-3 500 -50 1 » KQ4 » 863
v Q9 v 43 4SW4 620 -80 4 ||w K8 + v 75432
¢ 985 ¢ AKT764 ¢ 43
aJ » A86 » A96
o 4¢VAN L,A a T972
N 4~2~~ 'AKJ762 v AQ6
S 4~2~~ +QJ ¢ T7
E ~4~4~ Q973 & Q874
W ~4~4~
#5 4 QT3 3NN-1-100 Mean: 3NN5 660 80 2 ||#6 s Q3 3NE4 -630 Mean: 3NE-1 100 120 1
v KT2 4SN4 620 340 4SN5 650 7.0 1 v AJ3 3NW4 -630 -550 3NW4 630 20 2
¢ J3 Dif: -720 NS:-10 4SN4 620 7.0 1 ¢ 9754 Dif: 0 NS:-2 3NE4 630 20 3
» KQ732 IMP: -12 EW:-7 3NN4 630 7.0 2 & Q432 IMP: 0 EW:2 3NE3 600 -20 3
# 9542 s A8 6CN-1 <100 -10.0 1 | |& K987 & Ad42 3NW6 690 40 1
v Q9643 v AJ87 3NN-1 -100 -10.0 3 ||v KQ6 — v 952
¢ Q8 ¢ T9754 ¢ KT8 ¢ AJ2
& 98 & T5 & K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 ¢5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ * AJ64 E 4~~44 T8
W ~~~~~ W 4~~44
#7 » Q9865 3SN-1-100 Mean: 3SS3 140 7.0 1 |[|#8 aT9 2HN3 140 Mean: 4HN5 450 6.0 1
v AT3 4SN-2 -200 -130  3SN-1 4100 10 7 v AKJT97 2HN2 110 210  3NS4 430 6.0 1
+ AQ6 Dif: 100 NS:1  4SN-2 200 -20 1 + AQ Dif: 30 NS:-2 4HN4 420 50 1
92 IMP: 3 EW:2 4HW4 620 -10.0 1 & T73 IMP: 1 EW:3 3HN3 140 20 1
& A3 a 42 » A853 » K764 2HN3 140 20 3
v QJ852 + v K97 v Q62 v 83 2HN2 110 30 2
¢ 742 ¢ KJ985 ¢ T5 ¢ J832 2SW-1 50 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢V AN 4, Q2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 £ F > A EREHL 2RR2 =

=> Rl

#1: 3 F&(125.23) #2: 6 B78(124.75) #3 5 BkinpElRE(117.24)

8 NS: sS4t Z21§HEEAC) -7 7 NS: BREH EREI5(BAO) -17 1242 : 7.58 Total VP: 109.90 Rank:
EW: G REBEH0) 17 EW: R2iE5 BEHEPBAC) 7 IMP:| 15 9 4
I e —
#1 aT72 4SS4 -420 Mean: 4SS5 450 3.0 1 #2 » K82 4HE4 420 Mean: 4HE4 420 1.0 1
v Q842 4SS4 -420 350  4SN5 450 3.0 1 v 95 4SXS-2 500 -450 5HWS5 450 0.0 1
+ AKQ6 Dif: 0 NS:2 4ss4 420 20 5 ¢ QJ54 Dif: -80 NS:-2 4HW5 450 0.0 6
& 74 IMP: 0 EW:-2 4SN4 420 20 1 » J542 IMP: -2 EW:-1 4SXS-2 500 2.0 2
s 854 » J9 2885 200 -40 1 ||a JT74 a6
v A63 v T97 3NN-2 -100 -10.0 1 v KJT873 I v AQ2
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
% ¢V OSN 4 AKQE3 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ & 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 4SW4 620 Mean: 4HS4 420 120 1 ||#4 s AJ5 2HW-2 -200 Mean: 2HW-3 300 4.0 1
v T85 5HXS-3 500 -290  5HS-1 50 6.0 1 v JT9 2HW-1-100 160  2HW-2 200 1.0 4
¢ 32 Dif: 120 NS:-5 5HXS-1 100 50 2 o+ AJ96 Dif: -100 NS:-2 2HW-1 100 2.0 4
& KT542 IMP: 3 EW:8 3sw4 470 3.0 1 & JT3 IMP: -3 EW:-1 1NW-1 100 20 1
» KJ97543 & QT 5HXS-3 500 -50 1 » KQ4 » 863
v Q9 v 43 4SW4 620 -80 4 ||w K8 + v 75432
¢ 985 ¢ AKT764 + KQ852 ¢ 43
aJ » A86 K52 & A96
o 4¢VAN L,A a T972
N 4~2~~ 'AKJ762 v AQ6
S 4~2~~ +QJ ¢ T7
E ~4~4~ Q973 & Q874
W ~4~4-~
#5 4 QT3 3NN-1 100 Mean: 3NN5 660 80 2 ||#6 s Q3 3NE4 630 Mean: 3NE-1 100 120 1
v KT2 4SN4 -620 340  4SN5 650 7.0 1 v AJ3 3NW4 630 -550 3NW4 630 20 2
¢ J3 Dif: 720 NS:7  4SN4 620 7.0 1 ¢ 9754 Dif: 0 NS:-2 3NE4 630 20 3
» KQ732 IMP: 12 EW:10 3NN4 630 7.0 2 & Q432 IMP: 0 EW:2 3NE3 600 -20 3
# 9542 s A8 6CN-1 <100 -10.0 1 | |& K987 & Ad42 3NW6 690 40 1
v Q9643 v AJ87 3NN-1 -100 -10.0 3 ||v KQ6 — v 952
¢ Q8 ¢ T9754 ¢ KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 ¢5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ * AJ64 E 4~~44 T8
W ~~~~~ W 4~~44
#7 » Q9865 3SN-1100 Mean: 3SS3 140 7.0 1 |[|#8 aT9 2HN3 -140 Mean: 4HN5 450 6.0 1
v AT3 4SN-2200 -130  3SN-1 4100 10 7 v AKJT97 2HN2 -110 210  3NS4 430 6.0 1
+ AQ6 Dif: -100 NS:-2 4SN-2 200 -20 1 + AQ Dif: -30 NS:-3 4HN4 420 50 1
& 92 IMP: -3 EW:-1 4HW4 620 -10.0 1 & T73 IMP: -1 EW:2 3HN3 140 20 1
& A3 a 42 » A853 » K764 2HN3 140 20 3
v QJ852 + v K97 v Q62 v 83 2HN2 110 30 2
¢ 742 ¢ KJ985 ¢ T5 ¢ J832 2SW-1 50 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢VABN o QJ2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 £ F > A EREHL 2RR2 =

=> Rl

#1: 3 F&(125.23) #2: 6 B78(124.75) #3 5 BkinpElRE(117.24)

9 NS: ZHHIE 5R{EBHGHO) 12 10 NS: E3758 sRBFH(EAC) -3( 19.11 0.89 Total VP: 98.22 Rank:
EW: At BRISEEAC) 30 EW: 3318 SI515(50) 1 IMP:| 47 12 6
I e -
#1 aT72 4SS4 420 Mean: 4SS5 450 3.0 1 #2 » K82 4HWS5 -450 Mean: 4HE4 420 1.0 1
v Q842 3NN-2 -100 350 4SN5 450 3.0 1 v 95 4HWS5 -450 -450  5HW5 450 0.0 1
+ AKQ6 Dif: 520 NS:2 4ss4 420 20 5 ¢ QJ54 Dif: 0 NS:0 4HWS5 450 0.0 6
& 74 IMP: 11 EW:10 4SN4 420 20 1 » J542 IMP: 0 EW:0 4SXS-2 500 2.0 2
s 854 » J9 2885 200 -40 1 ||aJT74 a6
v A63 v T97 3NN-2 -100 -10.0 1 v KJT873 I v AQ2
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
% ¢V OSN 4 AKQE3 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ & 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 5HXS-1-100 Mean: 4HS4 420 120 1 ||#4 s AJ5 2HW-1 100 Mean: 2HW-3 300 4.0 1
v T85 4SW4 -620 -290  5HS-1 50 6.0 1 v JT9 2HW-3 300 160  2HW-2 200 1.0 4
¢ 32 Dif: 520 NS:5 5HXS-1 100 50 2 o+ AJ96 Dif: -200 NS:-2 2HW-1 100 2.0 4
& KT542 IMP: 11 EW:8 3SW4 470 3.0 1 & JT3 IMP: -5 EW:-4 1NW-1 100 20 1
» KJ97543 & QT 5HXS-3 500 -50 1 » KQ4 » 863
v Q9 v 43 4SW4 620 -80 4 ||w K8 + v 75432
¢ 985 ¢ AKT764 + KQ852 ¢ 43
aJ » A86 K52 & A96
o 4¢VAN L,A a T972
N 4~2~~ 'AKJ762 v AQ6
S 4~2~~ +QJ ¢ T7
E ~4~4~ Q973 & Q874
W ~4~4-~
#5 4 QT3 6CN-1 -100 Mean: 3NN5 660 80 2 ||#6 s Q3 3NE-1 100 Mean: 3NE-1 100 120 1
v KT2 3NN-1-100 340 4SN5 650 7.0 1 v AJ3 3NE3 -600 -550 3NW4 630 20 2
¢ J3 Dif: 0 NS:-10 4SN4 620 7.0 1 ¢ 9754 Dif: 700 NS:12 3NE4 630 20 3
» KQ732 IMP: 0 EW:10 3NN4 630 7.0 2 » Q432 IMP: 12 EW:2 3NE3 600 -20 3
# 9542 s A8 6CN-1 <100 -10.0 1 | |& K987 & Ad42 3NW6 690 40 1
v Q9643 v AJ87 3NN-1 -100 -10.0 3 ||v KQ6 — v 952
¢ Q8 ¢ T9754 * KT8 * AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 ¢5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ * AJ64 E 4~~44 T8
W ~~~~~ W 4~~44
#7 » Q9865 3SS3 140 Mean: 3SS3 140 7.0 1 |[|#8 aT9 2HN3 140 Mean: 4HN5 450 6.0 1
v AT3 4HW4 -620 -130  3SN-1 4100 10 7 v AKJT97 4HN5 450 210 3NS4 430 6.0 1
+ AQ6 Dif: 760 NS:7 4SN-2 200 -20 1 + AQ Dif: -310 NS:-2 4HN4 420 50 1
& 92 IMP: 13 EW:10 4HW4 620 -10.0 1 & T73 IMP: -7 EW:-6 3HN3 140 20 1
& A3 a 42 » A853 » K764 2HN3 140 20 3
v QJ852 + v K97 v Q62 v 83 2HN2 110 30 2
¢ 742 ¢ KJ985 ¢ T5 ¢ J832 2SW-1 50 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢VABN o QJ2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 £ F > A EREHL 2RR2 =

=> Rl

#1: 3 F&(125.23) #2: 6 B78(124.75) #3 5 BkinpElRE(117.24)

1 O NS: F325 5REHEAC) -30 9 NS: 28R3E R{ZAH(FFO) 12 0.89 19.11| Total VP: 76.96 Rank:
EW: =% ZIEEEH0) -12 EW: #4a{8 BRIzEF(BAC) 30 IMP:| 12 a7 9
I e -
#1 aT72 4SS4 -420 Mean: 4SS5 450 3.0 1 #2 » K82 4HW5 450 Mean: 4HE4 420 1.0 1
v Q842 3NN-2 100 350 4SN5 450 3.0 1 v 95 4HW5 450 -450 5HWS5 450 0.0 1
+ AKQ6 Dif: -520 NS:-10 4SS4 420 20 5 ¢ QJ54 Dif: 0 NS:0 4HWS5 450 0.0 6
& 74 IMP: -11 EW:-2 4SN4 420 20 1 » J542 IMP: 0 EW:0 4SXS-2 500 2.0 2
s 854 » J9 2885 200 -40 1 ||a JT74 a6
v A63 v T97 3NN-2 -100 -10.0 1 v KJT873 I v AQ2
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
% ¢V OSN 4 AKQE3 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ & 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 5HXS-1 100 Mean: 4HS4 420 120 1 ||#4 s AJ5 2HW-1 -100 Mean: 2HW-3 300 4.0 1
v T85 4SW4 620 -290  5HS-1 50 6.0 1 v JT9 2HW-3 -300 160  2HW-2 200 1.0 4
¢ 32 Dif: -520 NS:-8 5HXS-1 100 50 2 o+ AJ96 Dif: 200 NS:4 2HW-1 100 2.0 4
& KT542 IMP: -11 EW:-5 3SwW4 470 3.0 1 & JT3 IMP: 5 EW:2 1NW-1 100 20 1
» KJ97543 & QT 5HXS-3 500 -50 1 » KQ4 » 863
v Q9 v 43 4SW4 620 -80 4 ||w K8 + v 75432
¢ 985 ¢ AKT764 + KQ852 ¢ 43
aJ » A86 K52 & A96
o 4¢VAN L,A a T972
N 4~2~~ 'AKJ762 v AQ6
S 4~2~~ +QJ ¢ T7
E ~4~4~ Q973 & Q874
W ~4~4-~
#5 4 QT3 6CN-1 100 Mean: 3NN5 660 80 2 ||#6 s Q3 3NE-1-100 Mean: 3NE-1 100 120 1
v KT2 3NN-1100 340 4SN5 650 7.0 1 v AJ3 3NE3 600 -550 3NW4 630 20 2
¢ J3 Dif: 0 NS:-10 4SN4 620 7.0 1 ¢ 9754 Dif: -700 NS:-2 3NE4 630 20 3
» KQ732 IMP: 0 EW:10 3NN4 630 7.0 2 » Q432 IMP: -12 EW:-12 3NE3 600 -20 3
# 9542 s A8 6CN-1 <100 -10.0 1 | |& K987 & Ad42 3NW6 690 40 1
v Q9643 v AJ87 3NN-1 -100 -10.0 3 ||v KQ6 — v 952
¢ Q8 ¢ T9754 ¢ KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 ¢5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ * AJ64 E 4~~44 T8
W ~~~~~ W 4~~44
#7 » Q9865 3SS3 -140 Mean: 3SS3 140 7.0 1 |[|#8 aT9 2HN3 -140 Mean: 4HN5 450 6.0 1
v AT3 4HW4 620 -130  3SN-1 4100 10 7 v AKJT97 4HN5 -450 210  3NS4 430 6.0 1
+ AQ6 Dif: -760 NS:-10 4SN-2 200 -20 1 + AQ Dif: 310 NS:6 4HN4 420 50 1
& 92 IMP: -13 EW:-7 4HW4 620 -10.0 1 & T73 IMP: 7 EW:2 3HN3 140 20 1
& A3 a 42 » A853 » K764 2HN3 140 20 3
v QJ852 + v K97 v Q62 v 83 2HN2 110 30 2
¢ 742 ¢ KJ985 ¢ T5 ¢ J832 2SW-1 50 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢VABN o QJ2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




